
 

Exercici 1 : complèta. 
 
739 ….. centenas……desenas……unitats 

671 ….. centenas……desenas……unitats 

560 ….. centenas……desenas……unitats 

…….. 8 centenas 9 unitats 

Exercici 2 : calcule. 
 

500 + 30 + 6 = ………….. 

800 + 70 = ………….. 

600 + 8 = …………… 

200 + 500 + 60 + 3 =………. 

 
Exercici 3 : completa lo tablèu. 

 
763 700 + 60 + 3 sèt cents seissanta tres 

690 
…………… 

………………………………………

… 

……… 
800 + 40 

………………………………………

… 

……… …………… 
cinc cents vint e sèt 

 

Exercici 1 : complèta. 
 
739 ….. centenas……desenas……unitats 

671 ….. centenas……desenas……unitats 

560 ….. centenas……desenas……unitats 

…….. 8 centenas 9 unitats 

Exercici 2 : calcule. 
 

500 + 30 + 6 = ………….. 

800 + 70 = ………….. 

600 + 8 = …………… 

200 + 500 + 60 + 3 =………. 

 
Exercici 3 : completa lo tablèu. 

 
763 700 + 60 + 3 sèt cents seissanta tres 

690 
…………… 

………………………………………

… 

……… 
800 + 40 

………………………………………

… 

……… …………… 
cinc cents vint e sèt 

 


